A\

A

7
A/ 16 13 S 14 2 2 11

A

A

+

N
e

/
/

;,

=

10

—=7=

ZZ

=
%



Poz | Denumire Slas Buc | Malerial | Observalii
1 Flansa fixa 1 OL45
2 Surub M8*35 4272-80,21.8.8 6
3 Surub M6*60 5144 -80,gr.8.8 12
4 Saiba Grower RS 7666 /2—80 36 OLCHHA
5 Rulment 2
6 Pana 1
7 Surub M8*35 4272-80,2r.8.8 6
8 Elem. fix 1
9 F'lansa mobila 1 OL45
Pana 1
Motor 1
Flansa fixa 1 OL45
Surub M10*80 5144 -80,gr.8.8 24
Transmisie 2
Surub M8*80 4272-80,2r.8.8 12
Brat robot 1
Rulment radial—axial 2
Surub M6*40 5144-80,¢gr.8.8 12
Surub M5*25 Y517 -73,gr.6.3 12
Surub M8*30 5144 -80,gr.8.8 12
2 Butuc 1
2R Saiba Grower R6 7666 /2—80 24 OLCHHA
23 Saiba Grower R10 7666 /280 24 OLCH5A
24 Cablaj




400

Desenat
Verificat -
Data
Ur. T Rokbot
Focultoatea de
Mecanica An IV D, sectia R.IR.




	transmbr1_desen.pdf
	tabel_transmbr1.pdf
	ROBOTEL.pdf

